Mc))

MERTSAN®

PrUMP

MTS-496 P

KOD/CODE MTS-496 P

DEBI (LT./DAK.)
FLOW (LT./MIN.) 96

Srets o’ 540
LS 7.5
PioToN 4

R e 50
oCveE 20W50
Jies e o (R
SICENERGN  27x39x37
e 24.3

www.mertsanpump.com




395

243

143

371

153

/T

252

305

0 BAR -0 PSI

MTS-496 P

168
105 146
@ %
O]
®
_ ® O —
®
@®
@
®
=]

- —— g650
o &t
91 66 | 52 10

167

20 BAR - 290 PSI (@ 30 BAR - 435 PSI ‘@ 40 BAR- 580 PSI (@ 50 BAR - 725 PSI

=02 0"0"070

KW L/min

400
450
500
550

u.s
L/min g p.m

74.01 19.5
83.0/ 21.9
89.0) 23.5
94.0| 24.8

0.7
1.0
1.2
1.5

0.5
0.7
0.9
1.1

gpm
68.0/ 18.0
77.0/ 20.3
85.0 22.5
91.0/ 24.0

3.7
4.3
4.8
5.3

u.s
KW  L/min g.p.m

2.8 |67.0 17.7
3.1 |75.0 19.8
3.6 183.0 21.9
3.9 [90.0 23.8

5.3
6.0
6.8
7.5

3.9
4.4
5.0
5.5

L/min gpsm
66.0 17.4
74.00 19.5
81.0l 214

89.0 23.5

6.8
7.7
8.7
9.5

3.8
4.4
4.9
5.4

L/min g pm

5.0 65.0 17.2
5.7 | 73.0 |[19.3
6.4 | 80.0 21.1
7.0 | 88.0 23.2

KG| LB

8.5 |24.3|53.57
9.5 124.3| 53.57
10.6 |24.3 53.57
11.7 |24.3| 53.57

www.mertsanpump.com




Mc))
MERTSAN

PUMP

®

MTS-496 P

www.mertsanpump.com




MTS-496 P

Ne | URUN KODU / PRODUCT CODE ACIKLAMA /| DESCRIPTION C')LGULER | DIMENSIONS ADET/QTY
1 MTS-496 P/1 iMBUS CIVATA / SCREW 2 M6x10 4
2 MTS-496 P/2 PUL / RONDELA 26 MM 4
3 MTS-496 P/3 SAFT MUHAFAZA / CARDAN PROTECTION 1
4 MTS-496 P/4 iMBUS CIVATA / SCREW 2 M8x25 6
5 MTS-496 P/5 DEMIR NIPEL / NIPPLE (STAINLESS) G %" 1
6 MTS-496 P/6 ORING / O-RING @ 145.72x2.62 1
7 MTS-496 P/7 ORING / O-RING @ 100.00x2.00 1
8 MTS-496 P/8 ORING / O-RING @ 074.00x2.00 1
9 MTS-496 P/9 KEGE / SEAL 2 35x47x7 1
10 MTS-496 P/10 KELEBEK VANA / BALL VALVE (G%" M%"F) 1
11 MTS-496 P/11 GOMLEK / PISTON SLEEVE 4
12 MTS-496 P/12 KOR TAPA / BLANKING TAP 1
13 MTS-496 P/13 BIYEL KOLU / CONNECTIN ROD 4
14 MTS-496 P/14 PISTON / PISTON 258 4
15 MTS-496 P/15 PERNO / PERNO 214 4
16 MTS-496 P/16 SEGMAN / PISTON RING 2 14x1 MM )
17 MTS-496 P/17 SEGMAN / PISTON RING 258 4
18 MTS-496 P/18 MEMBRAN LASTIGi / MEMBRANE RUBBER 4
19 MTS-496 P/19 MEMBRAN PULU / MEMBRANE WASHER 4

20 MTS-496 P/20 ORING / O-RING @ 021.00x3.00 8

21 MTS-496 P/21 MEBMRAN CIVATASI / MEMBRANE HOLDER SCREW 2 12x20 4

22 MTS-496 P/22 MEMBRAN KAPAGI/ MEMBRANE COVER 4

23 MTS-496 P/23 AYAK/ PUMP MOUNTING STAND 2

24 MTS-496 P/24 ORING / O-RING @ 024.99x3.53 8

25 MTS-496 P/25 SIBOP KROMU / VALVE CHROMIUM F)

26 MTS-496 P/26 SIBOP PULU / VALVE WASHER 8

27 MTS-496 P/27 SIBOP YAYI / VALVE SPRING )

28 MTS-496 P/28 SIBOP KAFESI/ VALVE CAGE )

29 MTS-496 P/29 ORING / O-RING @ 033.00x3.00 8
30 MTS-496 P/30 GOzZLUK / PLUG 4
31 MTS-496 P/31 IMBUS CIVATA / SCREW 2 M8x30 12
32 MTS-496 P/32 EMNIYET VALFIi/ SAFETY VALVE G%" 1
33 MTS-496 P/33 VANA/ VALVE G%" 1

34 MTS-496 P/34 MANIFOLT KAPAGI / MANIFOLD COVER 1

35 MTS-496 P/35 DEMIR NIPEL / NIPPLE (STAINLESS) Gu" 1

36 MTS-496 P/36 HAVA TOPU ALT GOVDE / AIR TUBE INFRA ACCUMULATOR 1

37 MTS-496 P/37 HAVA TUPU IG PLASTIK/ AIR TUBE INNER PLASTIC 1

38 MTS-496 P/38 HAVA TUPU IG LASTIK / AIR TUBE INNER LASTIC 1

39 MTS-496 P/39 HAVA TUPU UST GOVDE / AIR TUBE UPPER ACCUMULATOR 1

40 MTS-496 P/40 FIBERLI SOMUN / FIBER NUT 28 MM 8

41 MTS-496 P/41 PUL / RONDELA 28 MM 8

42 MTS-496 P/42 iIMBUS CIVATA / SCREW 2 M8x45 )

43 MTS-496 P/43 ORING / O-RING 2 007.59x2.62 1

44 MTS-496 P/44 TUP SIBOBU / AIR TUBE VALVE 1

45 MTS-496 P/45 PUL / RONDELA 28 MM 1

46 MTS-496 P/46 (SU GIRISI) DIRSEK / HOSETAIL FOR FLY NUT 2 38x40/ 32x37 1

47 MTS-496 P/47 ORING / O-RING 2 027.00x4.00 1

48 MTS-496 P/48 (SU GIRIigi) DIRSEK SOMUNU / LOCK NUT G1%" 1

49 MTS-496 P/49 NIiPEL / NIPPLE 1

50 MTS-496 P/50 ORING / O-RING 2024.99x3.53 1

51 MTS-496 P/51 YAGDANLIK KAPAGI/ OILCAN COVER 1

52 MTS-496 P/52 ORING / O-RING 2 071.44x3.53 1

53 MTS-496 P/53 YAGDANLIK GOVDESIi/ OILCAN 1

54 MTS-496 P/54 ORING / O-RING 2 021.00x3.00 1

55 MTS-496 P/55 IMBUS CIVATA / SCREW @ M10x70 16

56 MTS-496 P/56 PUL / RONDELA 2 10 MM 12

57 MTS-496 P/57 GOVDE / CRANK CASE 1

58 MTS-496 P/58 YAG BOSALTMA TAPASI/ OIL OUTPUT TAP 1

59 MTS-496 P/59 SEGMAN / PISTON RING 255 1

60 MTS-496 P/60 RULMAN / BEARING 2 6207 1

61 MTS-496 P/61 BILEZIK / RING 2 55x60 2

62 MTS-496 P/62 KRANK / CRANK 1

63 MTS-496 P/63 RULMAN / BEARING 6011 1

64 MTS-496 P/64 KEGE / SEAL 2 70x90x10 1

65 MTS-496 P/65 SEGMAN / PISTON RING 270 1

66 MTS-496 P/66 SEGMAN / PISTON RING 1

67 MTS-496 P/67 TUP SiIBOP KAPAGI / AIR TUBE VALVE COVER 1

www.mertsanpump.com




